MATH 20C Lecture C
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There are 6 pages and 4 questions, for a total of 60 points.

No notes, no calculators, no books.

Please turn off all electronic devices.

Answer the questions in the spaces provided on the question sheets. If
you run out of room for an answer, continue on the back of the page.

Unless otherwise stated, show all your work for full credit. To maximize
credit, cross out incorrect work.

Good luck!
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Points: 20 20) 10 10 60
Score:
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1. Consider the points in space P = (1,2,-1),Q = (2,1,1), R =(1,—1,2).

(a) (3 points) Compute the vector P—)Q
?é, = { Vo=V 2‘)

(b) (5 points) Find a normal vector to the plane through P.@Q and R.

- D a =

R = <O‘—5,?>) QU = &\ 2 \7
~
- " o'
wotwal weehee = R xR = | & | % T P Q__‘l\g
W =\ 2 -3 3 23

3 A=\ P

%
~ 0-d
=33y -Be - (3 -3 -2

(¢) (6 points) Compute the area of the triangle in space PQR.

Aces N = —%_ \'si' x§ﬁl\= A_i%q-\o\-\azfz_';:%_%

(d) (6 points) Find the cosine of the angle at P of the triangle PQR.

QPR _ D3+ 6 3

Coso =
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2. Consider a moving point whose trajectory is given by r(t) = (cos 3¢, sin 3t, 4t) .

(a) (3 points) Find the velocity vector #(t).

0TI (-3smIt, 30033, 45

(b) (7 points) Write down a parametric equation for the tangent line E(H) at the point

P = (1,0,0). SEHE # Ewe

Lo = <1,6,09 + B <6,3 4>

=<1, 36,46

(¢) (2 points) What is the speed of the moving point at P?

” \7>‘0)” > ")/321.1.(2—: ’/z,s' - S—
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(d) (3 points) Find the acceleration d(t).

wil -
o.LE) = <—‘ia053tj-q5,,,gt) o>

(e) (5 points) Find the length travelled by the moving point along the trajectory be-
tween t; = 0 and t, = .

T ¥
= V(LI dE = S:’)/‘lsmz'at-f 9 cos*3e +16 dt
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3. Consider the plane x —y + 22 = —2.

(a) (3 points) Find a normal vector to this plane.

(b) (7 points) Find the intersection of this plane with the line parallel to the vector
(1,—1,1) and passing through the point P = (1,1,1).

Eq. of Iline
plEfi= € 1 a¥ed L Hhy = CHE, -8, 1 HE)

(44) - (-t) +2014€)= -2

2 +4¢= -2
==

Po o of intersec tion

r("”: <O/ 7-/0>
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4. (10 points) Find a parametric equation for the curve 7(t) given by the intersection of

T+ 2_1_/2 =5and & — 2';/2 4 oL O—

W= (§-2" +, w%—xb

- -t
DA T) =k => ‘\1?- S—g_g => &% \/ .
F3 :—z—x-\v.»\’- = 3-2%

T = &, QS © - 2"c,> AD G 5 (e \F% 3-1t>
(‘t\Q-cok P ‘gg\u\c\uoms)

.%tnxm\\ —2'\;

X-\'Z\‘
L\ = 3_t =
S Rt ~ _
Y x)-.\i.:i‘r - W= X

Sk -5
.

Qs 28, o 1) ans l0e (a2 V883 &)

(weed 2 %«w\c}n‘ow\s\
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